
qm=;+= gfd lhDd]jf/L s}lkmot

1 r]t/fh hf]lz ;+of]hs 

2 ho yfkf ;b:o

3 8Dd /fh kfWofo ;b:o

4 kf/; /fjn ;b:o

5 of]u]Gb| yfkf ;b:o

6 b]j/fh h};L ;b:o

7 eQm/fh h}zL ;b:o

8 ;'ldqf yfkf vftL ;b:o

9 ch{'g yfkf ;b:o

qm=;+= gfd lhDd]jf/L s}lkmot

1 zLjgfy of]uL ;+of]hs 

2 dfuL b]jL s8f/f s7fot ;b:o

3 lgd{nf jnL ;b:o

4 /flwsf l;+x ;b:o

5 /fh]Gb| a+ zflx ;b:o

6 kbd /fjt ;b:o

7 ;/]Gb| gfy ;b:o

qm=;+= gfd lhDd]jf/L s}lkmot

1 honfn sfsL{ ;+of]hs 

2 k|lbk /]UdL ;b:o

3 sNkgf af]x/f ;b:o

4 lgd{nf lu/L ;b:o

5 dbg a= ef6 ;b:o

6 ad a= lji6 ;b:o

7 k':s/ g]kfnL ;b:o

8 nIdL lji6 sfsL{ ;b:o

9 hgs e08f/L ;b:o

g]kfn :sfp6

;"b'/ klZrd k|b]z, afh'/f lhNnf

:yfgLo txsf ;+of]hs tyf ;b:ox?sf] gfdfjnL

a'9Lu+uf gu/kflnsf

vKt8 5]8]bx ufpFkflnsf

a'9LgGbf gu/kflnsf



10 lav{ h'jf/ ;b:o

qm=;+= gfd lhDd]jf/L s}lkmot

1 k'ik a= zflx ;+of]hs 

2 h+u s8f/f ;b:o

3 8s]Gb| a= l;+x ;b:o

4 g/]Gb| a= zflx ;b:o

5 k|sfz ad ;b:o

6 hgs dxt/f ;b:o

7 /]v /f]sfof ;b:o

8 z+sf dxt/f ;b:o

qm=;+= gfd lhDd]jf/L s}lkmot

1 wg a=a'9f ;+of]hs 

2 wg a= a'9yfkf ;b:o

3 /Daf rbf/f ;b:o

4 hfg'sf yfkf ;b:o

5 an]Gb| clwsf/L ;b:o

6 kbd a= dNn ;b:o

7 pHhnf dnfn ;b:o

8 gGb l;+x /f]sfof ;b:o

qm=;+= gfd lhDd]jf/L s}lkmot

1 wg/fh af]u6L ;+of]hs 

2 w|'a a= zflx ;b:o

3 ;l/tf l;h'jfn ;b:o

4 la/]]Gb| /fh lul/ ;b:o

5 /d]z ;fls{ ;b:o

6 ;+lutf lji6 ;b:o

7 alsn e08f/L ;b:o

8 dg/fh a'9f ;b:o

qm=;+= gfd lhDd]jf/L s}lkmot

uf}d'n ufpFkflnsf

:jfdLsflt{s vfk/ ufpFkflnsf

lxdfnL ufpFkflnsf

huGgfy ufpFkflnsf



1 hLjg /f]sfof ;+of]hs 

2 lj/ a=/f]sfof ;b:o

3 t['lN; af]x/f ;b:o

4 k? /f]sfof ;b:o

5 /fd a= /f]sfof ;b:o

6 dbg a'9f ;b:o

7 d+un /f]sfof ;b:o

8 ladnf l;+x ;b:o

qm=;+= gfd lhDd]jf/L s}lkmot

1 zLjnfn ltldlN;gf ;+of]hs 

2 k]|d /fjn ;b:o

3 lav{ /fjt ;b:o

4 ;To /f]sfof ;b:o

5 o1 /f]sfof ;b:o

6 sns lj=s ;b:o

7 l6sf/fd kl08t ;b:o

8 tf/f yfkf ;b:o

9 ldg P]8L ;b:o

10 l;tf s'= lji6 ;b:o

qm=;+= gfd lhDd]jf/L s}lkmot

1 rGb| cP8L ;+of]hs 

2 hGdfho a'9f ;b:o

3 ?kf g]kfnL ;b:o

4 wg;]/f lul/ ;b:o

5 t'nf a'9f ;b:o

6 s[i0f /fjn ;b:o

7 g/ a= yfkf ;b:o

8 gj/fh yfkf ;b:o

9 s'zn a'9f ;b:o

10 slatf a'9f ;b:o

a8Ldflnsf gu/kflnsf

lqj]0fL gu/kflnsf


